# District School Board of Pasco County Bid Recommendation

Bid Title	Playground Equipment & Installation - GTES	Number of Vendors Notified	87
Bid Number	09-130-DR	Number of Bids Distributed	41
Date Solicited	3/12/09	Number of Vendors Bidding	g 6
Date Opened	4/1/09	Number of Formal "No Bid Responses	NA NA
Date Board Presentation	4/21/09	Funding Source	Internal Funds & Capital Projects
<b>Total Savings</b>	\$21,584.36	Grand Total of Bid (First year estimate)	Estimated: \$37,074.28

<u>Recommendation</u>: Recommend acceptance of bid from Product Innovations International, Inc. as noted on attached tabulation sheet as lowest and best responsive, responsible bid meeting written specifications.

<u>Term of Contract</u>: This bid is for the purchase and installation of a playground for Gulf Trace Elementary School.

<u>Notations and Exceptions</u>: Recommend rejection of low bid from School Specialty, as they provided pricing only for playground, installation was not included as required by the bid specifications.

Total savings were determined by averaging all prices and deducting awarded bid.

Offers from the vendors listed herein are the only offers received timely as of the above opening date and time. All others submitted in response to the solicitation, if any, are here by rejected as late.

Bids Evaluated By: Hope Schooler, Principal, Gulf Trace Elementary School

Bids Prepared By: Debra Reaves, Buyer Assistant

Reviewed and Authorized By: Kendra D. Goodman, CPPB, Purchasing Agent

Date/Time: April 15, 2009 09:51:00

DATE OF OPENING: APRIL 1, 2009 2:30 PM	Advanced Recreation Concepts		Kids Play, Inc.		Product Innovations International, Inc.		Playmore We
BID TITLE: Playground Equipment & Installation - GTES	3125 Skyway Ci		P.O. Box 1008		518 East Lemon Street, Suite 400		10271 Deer R
BID #: 09-130-DR	Melbourne, FL 3	32934	Hantsellf, AL 35	640	Tarpon Springs, FL 34689		Ft. Myers, FI
ITEM # DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE
Part I: Playground (Attachment A)	UNITIRICE	TOTALTRICE	UNITIRICE	TOTALTRICE	UNITTRICE	TOTALTRICE	UNITIMEL
Structure Accessories:							
Grab Handles (8)					12.80	102.40	\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \
` '							
Deck Filler Block (7)					29.60	207.20	
Earthscapes Playwheel (1)					52.80	52.80	)
Activity Panes:					-		
Off Road Adventure Panel (1)					573.60	573.60	)
Big Rig Truck Panel (ES) (1)					532.00	532.00	
Store Front Panel (ES) (1)					350.40	350.40	
Bridges:							
8' Lily Pad Bridge (1)					1,353.60	1,353.60	<mark>)</mark>
8' Poly Arched Bridge w/ Railes (1)					1,017.60	1,017.60	)
8' Poly Clatter Bridge w/Rails (1)					1,042.40	1,042.40	<mark>)</mark>
Barrier Walls:					-		
Pipe Wall (ES) (7)					236.80	1,657.60	)
Composite Climbers:							
ADA Transfer Station 40" (1)					1,050.40	1,050.40	
Chain Link Climber 48" (1)					632.80	632.80	
Rock Wall Climber 48" - 60" (1)					787.20	787.20	
Tiki Climber 32 - 72" Decks (1)					529.60	529.60	
Poly-Pipe Ladder 48 - 56" (1)					260.80	260.80	
Poly-Pipe Ladder 64 - 72" (1)					272.80	272.80	
Climbing Rung with HDPE Collars: (1)					50.40	50.40	
Decks:							
Square Poly Deck (includes posts) (9)					241.60	2,174.40	<mark>)</mark>
Entrance Panels:					-		
1/2 Entrance Panel (replaces "D" Arch) (3)					123.20	369.60	0
Full Entrance Panel (1)					206.40	206.40	)

DATE OF OPENING: APRIL 1, 2009 2:30 PM	Advanced Recre	ation Concepts	Kids Play, Inc.		Product Innovations	International, Inc.	Playmore We
BID TITLE: Playground Equipment & Installation - GTES	3125 Skyway Circle		P.O. Box 1008		518 East Lemon Street, Suite 400		10271 Deer I
BID #: 09-130-DR	Melbourne, FL 3		Hantsellf, AL 35	640	Tarpon Springs, FL 34689		Ft. Myers, FI
	·				1 1 5		
ITEM # DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE
D Panel (w/Hand Holds) (1)					24.00	24.00	)
Composite Connectors:							
Stright TR Horizontal Ladder (1)					688.00	688.00	<mark>)</mark>
5 X 5" Posts - Select:							
5" x 5" Poly Posts 5.50' (1)					56.00	56.00	<mark>)</mark>
5" x 5" Poly Posts 7' (5)					70.40	352.00	<mark>)</mark>
5" x 5" Poly Posts 9' (1)					89.60	89.60	<mark>)</mark>
5" x 5" Poly Posts 9.50' (5)					94.40	472.00	<mark>)</mark>
5" x 5" Poly Posts 10' (5)					99.20	496.00	<mark>)</mark>
5" x 5" Poly Posts 10.50' (4)					104.00	416.00	)
5" x 5" Poly Posts 12' (4)					118.40	473.60	)
5" x 5" Poly Posts 13' (8)					128.80	1,030.40	)
Post Caps:							
Post Cap (21)					9.60	201.60	0
Roofs:							
DW Ribbed Roof (3)					488.80	1,466.40	0
Slides:							
Duo-Glide Slife 60" - 64" (1)					1,180.80	1,180.80	)
Stright Chute Slide - 4' (1)					995.20	995.20	0
Left Veer - Chute Slide - 5' (1)					1,144.00	1,144.00	0
Right Veer - Chute Slide - 5' (1)					1,144.00	1,144.00	0
TOTAL PRICE FOR PLAYGROUND: Attachment A:		37,500.00	)	36,271.00		23,453.60	)
Part II: Borders (Attachment B):		2,005.00	)	1,457.00			
Earthscapes Structures 4' x 12" Plastic Borders w/Stake					33.84	1,895.04	
Part III: Ramp (Attachment C):		767.00		776.00			
Earthscapes Structures ADA Rampa (Plastic)						524.04	
Part #RP03:							

DATE OF OPENING: APRIL 1, 2009 2:30 PM		Advanced Recreation Concepts		Kids Play, Inc.		Product Innovations	International, Inc.	Playmore We
BID TITLE: Playground Equipment & Installation - GTES		3125 Skyway Circle		P.O. Box 1008		518 East Lemon Street, Suite 400		10271 Deer F
BID #: 09-130-DF	2	Melbourne, FL 3	32934	Hantsellf, AL 35	640	Tarpon Springs, FL 34689		Ft. Myers, FI
ITEM # DESCRIP		UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE
	Part IV: Price for Lava Wall (Attachment D):		Included Part A					
Lava Wall								
	ped Structures Model #CL75				1,805.00		1,314.25	<mark>5</mark>
<b>Additional Charg</b>	es:							
Installation	n Labor Cost (NPSI Certified):		8,802.59	1	11,803.00		7,962.35	<mark>5</mark>
Freight/De	elivery Cost:		797.63		4,390.00		1,925.00	<mark>)</mark>
GRAND 7	TOTAL OF BID:		54,368.42		56,502.00		37,074.28	8
			(Includes Wood					
			Mulch)					
Optional:				120 CY - 12" De	pth Engineered			
				Wood Fiber inclu	uding Freight &			
				Labor: \$3,355				
					inen 2 rolls: \$480			
				Total w/Surfacin	g: \$60,337			
			1					

DATE OF OPENING: APRIL 1, 2009 2:30 PM	st, Inc.	School Specialty		Site Development Concepts	
BID TITLE: Playground Equipment & Installation - GTE	S tun Farms Rd	100 Paragon Parkway		4321 Sanddollar Court	
BID #: 09-130-DR	, 33966	Mansfield, OH 44	4903	New Port Richey, FL 34652	
ITEM # DESCRIPTION	TOTAL PRIC	UNIT PRICE	TOTAL PRICE	UNIT PRICE TOTAL PRICE UNIT PRICE	
Part I: Playground (Attachment A)					
Structure Accessories:					
Grab Handles (8)		80.00	160.00		
Deck Filler Block (7)		Included	Included		
Earthscapes Playwheel (1)		106.00	106.00		
Activity Panes:					
Off Road Adventure Panel (1)		306.00	306.00		
Big Rig Truck Panel (ES) (1)		1,144.00	1,144.00		
Store Front Panel (ES) (1)		365.00	365.00		
Bridges:					
8' Lily Pad Bridge (1)		820.00	820.00		
8' Poly Arched Bridge w/ Railes (1)		1,176.00	1,176.00		
8' Poly Clatter Bridge w/Rails (1)		1,176.00	1,176.00		
Barrier Walls:					
Pipe Wall (ES) (7)		234.00	1,638.00		
Composite Climbers:					
ADA Transfer Station 40" (1)		1,099.00	1,099.00		
Chain Link Climber 48" (1)		258.00	258.00		
Rock Wall Climber 48" - 60" (1)		830.00	830.00		
Tiki Climber 32 - 72" Decks (1)		729.00	729.00		
Poly-Pipe Ladder 48 - 56" (1)		426.00	426.00		
Poly-Pipe Ladder 64 - 72" (1)		437.00	437.00		
Climbing Rung with HDPE Collars: (1)		Included	Included		
Decks:					
Square Poly Deck (includes posts) (9)		All combined	9,512.00		
Entrance Panels:					
1/2 Entrance Panel (replaces "D" Arch) (3)		216.00	432.00		
F. 175			(only 2 needed)		
Full Entrance Panel (1)		Included	Included		

DATE OF OPENING: APRIL 1, 2009 2:30 PM		st, Inc.	School Specialty		Site Development Concepts		
BID TI	TLE: Playground Equipment & Installation - GTES	un Farms Rd	100 Paragon Parkway		4321 Sanddollar Court		
BID #:	09-130-DR	, 33966	Mansfield, OH 44	4903	New Port Richey, FL 34652		
ITEM#	DESCRIPTION	TOTAL PRIC	UNIT PRICE	TOTAL PRICE	UNIT PRICE TOTAL PRICE UNIT PRICE		
	D Panel (w/Hand Holds) (1)		Included	Included			
	Composite Connectors:						
	Stright TR Horizontal Ladder (1)		525.00	525.00			
	5 X 5" Posts - Select:						
	5" x 5" Poly Posts 5.50' (1)						
	5" x 5" Poly Posts 7' (5)						
	5" x 5" Poly Posts 9' (1)						
	5" x 5" Poly Posts 9.50' (5)						
	5" x 5" Poly Posts 10' (5)						
	5" x 5" Poly Posts 10.50' (4)						
	5" x 5" Poly Posts 12' (4)						
	5" x 5" Poly Posts 13' (8)						
	Post Caps:						
	Post Cap (21)						
	Roofs:						
	DW Ribbed Roof (3)		677.00	2,031.00			
	Slides:						
	Duo-Glide Slife 60" - 64" (1)		1,056.00	1,056.00			
	Stright Chute Slide - 4' (1)		785.00	785.00			
	Left Veer - Chute Slide - 5' (1)		895.00	895.00			
	Right Veer - Chute Slide - 5' (1)		895.00	895.00			
	TOTAL PRICE FOR PLAYGROUND: Attachment A:	35,461.00		26,801.00			
Part II:	Borders (Attachment B):						
	Earthscapes Structures 4' x 12" Plastic Borders w/Stake	1,839.00		1,553.00			
Part II	: Ramp (Attachment C):	2,000.00		2,222.00			
	Earthscapes Structures ADA Rampa (Plastic)	646.00		672.00			
	Part #RP03:	212100		2.2.00			

DATE OF OPENING: APRIL 1, 2009 2:30 PM		st, Inc.	School Specialty		Site Development Concepts		
BID TITLE: Playground Equipment & Installation - GTES		tun Farms Rd	100 Paragon Parkway		4321 Sanddollar Court		
BID#:	09-130-DR	, 33966	Mansfield, OH 4	4903	New Port Richey, FL 34652		
	DESCRIPTION	TOTAL PRI	UNIT PRICE	TOTAL PRICE	UNIT PRICE TOTAL PRICE UNIT PRICE		
Part IV	: Price for Lava Wall (Attachment D):						
	Lava Wall						
	Earthscaped Structures Model #CL75	4,332.00		2,823.00			
Additio	nal Charges:						
	Installation Labor Cost (NPSI Certified):	11,830.00		NB	8,970.00		
	Freight/Delivery Cost:	2,620.00		3,000.00	1,090.00		
	<i>C y</i>			,	,		
	GRAND TOTAL OF BID:	56,728.00		33,849.00	53,771.50		
			*Does not include	le installation			
	Optional:						
-		<u>'</u>	•	•			